

٢٥

$$y = a(x-h)^p + k$$

لدينا $\rightarrow (1, 1)$

$$0 \rightarrow (-1, 9)$$

$$1 = a(p+1)^p + 9$$

$$1 = 14a + 9 \rightarrow 14a = -8 \rightarrow a = -\frac{1}{r}$$

$$y = -\frac{1}{r}(x+1)^p + 9 \rightarrow -\frac{1}{r} + 9 = \frac{+14}{r}$$

$$y = -\frac{1}{r}x^p - x + \frac{14}{r}$$

جواب

$$px^p + mx + m + 4 = 0 \rightarrow \Delta \geq 0 \rightarrow m^p - \varepsilon(p)(m+4)$$

$$m^p - 14m - \varepsilon \geq 0 \rightarrow (m+3)(m+14)$$

$$m < -3 \quad \{ \quad m > 14$$

$$\text{أي } r \quad (5) \quad -\frac{b}{a} > 0 \rightarrow -\frac{m}{r} = \frac{b}{a} > 0 \rightarrow m < 0$$

$$(p) \quad \frac{c}{a} > 0 \rightarrow \frac{m+4}{r} > 0 \rightarrow -4 < m < 0$$

$$m < -3 \quad \text{و} \quad -4 < m < 0$$

$$\rightarrow -\varepsilon < m < -4$$

$$px^p + (pm-1)x + 4 - m = 0 \rightarrow \Delta \geq 0 \rightarrow (pm-1)^p - \varepsilon(p)(pm)$$

$$\varepsilon m^p + 14m + 4 > 0$$

$$\rightarrow m = \frac{14}{r}$$

$$m = -1 \rightarrow \varepsilon(-1)^p + 14(-1) - 4p = -4p$$

المراد من هذا

$$S \rightarrow -\frac{b}{a} = -\frac{\mu m - 1}{\mu} \quad \left\{ \begin{array}{l} \mu \rightarrow \infty \\ \mu \rightarrow \frac{\mu}{\mu - m} \end{array} \right.$$

$$-\frac{\mu m - 1}{\mu} = \frac{\mu}{\mu - m} \rightarrow -(\mu m - 1)(\mu - m)$$

$$\epsilon m - \mu m \mu - \mu + m$$

$$\mu m \mu - \omega m + \mu = 9 \rightarrow \mu m \mu - \omega m - \mu = 0$$

$$(m - \mu)(m + \mu) \rightarrow \frac{\mu}{\mu} \quad \frac{-\mu}{\mu} =$$

$$x = x^{\mu} - \mu = 0 \rightarrow S \rightarrow -\frac{b}{a} = 1$$

$$\mu \rightarrow \frac{c}{a} \rightarrow -\epsilon$$

$$\alpha + \beta = (x_1 + x_2)^{\mu} - \mu x_1 x_2 (x_1 + x_2) + \frac{x_1 + x_2}{x_1 x_2}$$

$$1 + 1 - \frac{1}{\epsilon} = \frac{1}{\epsilon} \rightarrow \alpha \beta =$$

$$(x_1 x_2)^{\mu} + (x_1 + x_2)^{\mu} - \mu x_1 x_2 + \frac{1}{x_1}$$

$$-4 + 1 + 1 - \frac{1}{\epsilon} = -\frac{2}{\epsilon}$$

$$\epsilon (x^{\mu} - \frac{1}{\epsilon} x - \mu x) = 0$$

$$\epsilon x^{\mu} - \omega x - \mu x = 0$$

$$\left(\frac{\sqrt[p]{x^2} + 1 + \sqrt[p]{x^2}}{\sqrt[p]{x^2}} \right) (\sqrt[p]{x^2} - 1) = \sqrt[p]{x^2}$$

$$\frac{x^2 - 1}{\sqrt[p]{x^2}} = \sqrt[p]{x^2} \rightarrow x^2 - 1 = x^2 \rightarrow x^2 - x^2 - 1 = 0$$

$$\frac{-b}{a} = -\left(\frac{-1}{1}\right) = +1$$

$$\mu x^2 - 9x + \varepsilon = 0 \quad \alpha + \beta = \frac{a}{\mu} \quad \alpha\beta = \frac{\varepsilon}{\mu}$$

$$\alpha = \mu\beta \quad \mu\beta \times \beta = \frac{\varepsilon}{\mu} \rightarrow \mu\beta^2 = \frac{\varepsilon}{\mu} \quad \beta^2 = \frac{\varepsilon}{\mu^2}$$

$$\beta = \pm \frac{\sqrt{\varepsilon}}{\mu}$$

$$\beta = \frac{\sqrt{\varepsilon}}{\mu} \rightarrow \alpha = \frac{\mu \times \sqrt{\varepsilon}}{\mu} = \sqrt{\varepsilon}$$

$$\beta = -\frac{\sqrt{\varepsilon}}{\mu} \rightarrow -\sqrt{\varepsilon}$$

$$\alpha - \beta = \frac{\sqrt{\varepsilon}}{\mu} + \frac{\sqrt{\varepsilon}}{\mu} = \frac{2\sqrt{\varepsilon}}{\mu} \rightarrow \alpha = 1$$

$$\alpha + \beta = \frac{\sqrt{\varepsilon}}{\mu} - \frac{\sqrt{\varepsilon}}{\mu} = \frac{-1}{\mu} = a \rightarrow \sqrt{1}$$

$$+ 1 - (-1) = 14$$

$$a > 0 \quad \Delta > 0 \rightarrow \frac{-\mu + \sqrt{a}}{a} > 0 \rightarrow \frac{\sqrt{a} + \mu}{a} < 0$$

$$a > 0, \quad -\frac{\mu}{r} < a < \frac{\mu}{r} > 0 \quad y = x(ax + \mu + \mu)$$

$$-\frac{\mu}{r} < a < 0$$

$$y = x^p + ax - \mu \rightarrow \text{D.W.} = -\frac{b}{ra} = -\frac{a}{r} \rightarrow x^p + \mu x - \mu = 1$$

$$x^p + \mu x - \mu = 0 \rightarrow (x+1)(x-1) = 0$$

$$y = -x^p - \mu x + b \rightarrow x \rightarrow -\frac{b}{ra} = -\frac{\mu}{-r} = -1$$

$$-x^p - \mu x + b = 1 \rightarrow -1 - \mu + b = 1 \rightarrow b = \mu + 2 \quad ab = \mu(\mu + 2) = 1$$

$$r x^p - \mu x + b = 0 \rightarrow \Delta = \frac{a}{r} \rightarrow r + \left(\frac{a}{r} = 1 - \frac{1}{r}\right)$$

$$r x^p + x - \mu = 0 \rightarrow x^p + x - 1 = 0 \quad a = p - 1 \neq 1$$

$$\frac{\mu}{r} + \frac{1}{r} = \mu x$$

$$-\mu + \frac{1}{r} = -\frac{\mu}{r}$$

$$\alpha \beta = -\mu \rightarrow \frac{b}{r} = \frac{-\mu}{r} = -\frac{\mu}{r}$$

$$x^p + \mu x + m$$

$$\alpha - \beta = -\frac{b}{a} = -\frac{\mu}{r}$$

$$(\alpha + \beta) - (\alpha + \beta) = \mu = \mu$$

$$x^p + \mu x - \mu m = 0 \rightarrow \alpha + \beta = -\mu$$

$$\alpha - \beta = \mu$$